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B. A. ECONOMICS  

(BAG) 

Term-End Examination 

June, 2025 

BECE-145 : INDIAN ECONOMY–I 

Time : 3 Hours  Maximum Marks : 100 

Note : Answer questions from each Section as 

per instructions. 

 Section—A  

Note : Answer any two questions from this 

Section in about 600 words each.  

2×20=40 

1. Describe the trends in the sectoral 

distribution of employment in India since 

2000. 
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2. Explain the challenges/constraints for 

infrastructure development in India in 

terms of ‘institutions and governance’. 

3. Present a comparative profile of ‘Current 

Account Deficit (CAD)’ between the 

developed and developing economies of the 

world. 

4. How is the ‘head count ratio’ of measuring 

poverty defined ? How is Poverty Gap Index 

(PGI) measure an improvement over the 

head count ratio index ?  

 Section—B  

Note : Answer any four questions from this 

Section in about 350 words each. 4×12=48 

5. Distinguish between ‘Inclusive Growth 

Approach’ and ‘Sustainable Development 

Approach’. 
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6. Explain the various factors of production 

that play a crucial role in building a strong 

infrastructural base. 

7. Differentiate between Age Specific Fertility 

Rate (ASFR) and Age Specific Death Rate 

(ASDR). 

8. How is human capital defined ?  

How is it different from human develop-

ment ? 

9. Write a note on ‘Health Financing’. 

10. Define inequality. Distinguish between 

‘consumption inequality’ and ‘nutritional 

inequality’. 

11. How is the term labour force defined ? 

Explain how unemployment is measured in 

India. 
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 Section—C  

12. Write short notes on any two of the following 

in about 100-150 words each : 2×6=12 

(a) Human Development Index 

(b) Five phases of Demographic Transition 

(c) Expectation of life at birth 

(d) WFPR and LFPR 
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BECE–145 

ch- ,- (vFkZ'kkL=)  

(ch- ,- th-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-bZ-&145 % Hkkjrh; vFkZO;oLFkk&I 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % izR;sd Hkkx ls funsZ'kkuqlkj iz'uksa ds mÙkj fyf[k,A 

 Hkkxµd  

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj yxHkx  

600 'kCnksa (izR;sd) esa fyf[k,A  2×20=40 

1- o"kZ 2000 ds ckn ls Hkkjr ls jkstxkj ds {ks=h; forj.k dh 

izo`fÙk;ksa dk o.kZu dhft,A 
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2- Hkkjr esa v/kkslajpuk fodkl dh ck/kkvksa vkSj pqukSfr;ksa dh 

laLFkkxr ,oa iz'kkldh; vk/kkjksa ij O;k[;k dhft,A 

3- fo'o ds fodflr ,oa fodkl'khy ns'kksa ds e/; ^pkyw 

[kkrk ?kkVs* (CAD) dk rqyukRed fp=.k izLrqr  

dhft,A 

4- xjhch ekiu dh eqaM x.kuk vuqikr fof/k dh ifjHkk"kk dSls 

djrs gSa \ xjhch vUrjky lwpd (PGI) eqaM x.kuk lwpd 

ls fdl izdkj vf/kd ifj"Ïr ekid gS \ 

 Hkkxµ[k  

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj yxHkx  

350 'kCnksa (izR;sd) esa fyf[k,A  4×12=48 

5- ^lekgudkjh lao`f¼ n`f"Vdks.k* vkSj ^/kkj.kh; fodkl 

n`f"Vdks.k* esa Hksn Li"V dhft,A 
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6- mu mRiknd dkjdksa dh O;k[;k dhft, tks ,d lqn`<+ 

v/kslajpukRed vk/kkj ds fuekZ.k esa fu.kkZ;d Hkwfedk 

fuHkkrs gSaA 

7- o; fof'k"V tuu {kerk nj (ASFR) rFkk o; fof'k"V 

e`R;q nj (ASDR) esa Hksn Li"V dhft,A 

8- ekuoh; iw¡th dh ifjHkk"kk fdl izdkj djrs gSa \ ;g 

ekuoh; iw¡th ekuo fodkl ls fdl izdkj fHkUu gksrh gS \ 

9- ^LokLF; foÙkh;u* ij ,d fVIi.kh fyf[k,A 

10- fo"kerk dh ifjHkk"kk nhft,A ^miHkksx fo"kerk* rFkk 

^iks"k.k fo"kerk* esa Hksn Li"V dhft,A 

11- ^Je cy* inca/k dh ifjHkk"kk fdl izdkj dh tkrh gS \ 

Hkkjr esa csjkstxkjh dk ekiu fdl izdkj gksrk gS]  

le>kb,A 
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 Hkkxµx  

12- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ yxHkx 

100&150 'kCnksa (izR;sd) esa fyf[k, % 2×6=12 

(d) ekuo fodkl lwpdkad 

([k) tukafddh; laØe.k ds ik¡p lksiku 

(x) tUe ds le; thok'kk 

(?k) WFPR (dk;Z cy Hkkxhnkjh nj) rFkk LFPR  

(Je cy Hkkxhnkjh nj) 

× × × × × 

 

 

 

 

 

 


